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7. Suppose that X follows a geometric distribution,
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16. Consider an i.i.d. sample of random variables with density function
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18. Suppose that X, X,, ..., X, are i.i.d. random variables on the interval [0, 1]
with the density function
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where @ > 0 is a parameter to be estimated from the sample. It can be shown
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a. Find the method of moments estimate of 6 and its mean and variance.

b. Find the mle of 9: ‘ _ _
d. Find a modification of the mle that renders it unbiased.
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equendies are in equilibrium, the genotypes AA, Aa, and aa occurSOlutlon to Homework 5
with probabilities (1 — 0)2,26(1 — 6), and 62, respectively. Plato et al. (1964)
published the following data on haptoglobin type in a sample of 190 people:

Haptoglobin Type
Hpl-1 Hp1-2 Hp2-2
10 68 112

a. Find the mle of 6.
b. Find the asymptotic variance of the mle.
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